
Canonbury Home Learning 

Year 3 Maths 

Steppingstone activity ANSWERS 

Lesson 29  

LO:  To understand the difference between a half and a quarter 

 

  

 

 

 

 

 

  

 

  

 

 

 

 

 

 

 

 

 

Task: Find out which of the boasting teachers 

has the most money by working out ½ and ¼ of 

their amounts! 

 

 

 

 

 

 

  

  

  

 
 

I have ½ of 

£10 = £5 

WINNER 

I have ¼  

of £12 = 

£3 

I have ¼  

of £8 = £2 

I have ½   

of £6 = £3 

WINNER 

I have ¼  

of £20 = 

£5 

I have ½   

of £12 = £6 

WINNER 

I have ½   

of £2 = £1 

DRAW 

I have ¼  

of £4 = £1 

DRAW 
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